
   2020 Ford Superduty, Long Box & Dually 

Fuel Vapor Evaporator Canister Guard 

Mounting Diagrams and Instructions 

Part # 700388 

IMPORTANT: 

Manufacturer is not responsible for negligent use of vehicle with Fuel Vapor Evaporator Canister Guard Installed,  
Including over-tightening of screws and bolts causing damage to vehicle or guard. 

Components 
(1) Fuel Vapor Evap. Can. Guard  Part# 702460   (1) Parts Bag   Part #702461 
(1) Support Strap, Clinch Nutted  Part# 702459 

 

Parts Bag #702461 
a) (3) Hex Bolt, 18-8, SS, M6 x 25mm   Part# 012036 b) (2)  Capscrew, SS, 1/4"-20 x 3/4", Hex Head Part# 014034 
c) (5)  Washer, Flat, 5/16” x 11/16” 20ga, SS  Part# 018004 d) (5) Washer,Lock,SS,Helicoil,1/4"  Part# 024000 

 
INSTALLATION INSTRUCTIONS: 
 

1. Before you install your Evaporator Canister Guard see the diagrams and parts list for all necessary parts. 
2. Remove the factory screw #1 in front of the factory canister (see diagram #1) and install support strap bracket 

through the factory screw hole #1 with the fasteners a, c and d (see diagram #2). Make sure the support strap 
bracket is parallel to the factory canister before tightening the screw a. 

3. Remove factory screws #2 and #3 at the rear end of the factory canister (diagram #2) and loosely install the 
evaporator canister guard through the factory screw hole #2 hole with the fasteners a, c and d (diagram #3). 
Make sure the two slotted holes in front of the guard are lined up with the two clinch nuts on the Support strap 
bracket (diagram #3) then secure the guard through the factory screw hole #3 with the fasteners a, c and d 
(diagram #3). 

4. Secure the front end of the guard to the support bracket with the fasteners 2x b, 2x c and 2x d then tightening 
the screw on the factory screw hole #2. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

FACTORY

SCREW #2

FACTORY

SCREW #3

REMOVE FACTORY

SCREW #1 (HIDDEN)

#1

#2

#3

Diagram #1 

View Shows Bottom of Truck 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

c

d

a

REMOVE

FACTORY

SCREW #2

REMOVE

FACTORY

SCREW #3

#1

#2

#3

Diagram #2 



 

c

d

#2

#3

b

c

d

a

Diagram #3 


